B. Com. Examination,
1930

BENGALI COMPOSITION

Paper-setter—MR. SYAMAPRASAD MookERJEE, M.A., B.L.,
BAR.-AT-LLAW.

Exzaminer—DR. SITANATH PRADHAN, M.Sc., Pa.D.

Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.

1. Translate any two of the following passages into English : —

(a) (FHIbHE A AN aNFTA @7 e @3e sty 20
CMzx Gewa faolg #g | 2« Z2ate) swor AfteR Ss@ FATATE
2oitra FAFTOTE S ST FCIAN | ol AT INHA  HITE
@J/w freziw 2z« ; iz =3fy feofq Sta fagal itz Afzs
AQE @I AN Ffarex | AT Az waa =izta Ffaal =fe
CAe3F e 23092 fofq fAaifiy cotoa =ensd Ftax | Aersia
ZETO (FHIGH “IT7A 730 ATITS(S aAFie Ffarexn @32 AlgTo
otad 5:d-CIBLN 768 23Le« | Jcaiyfe Azstea Stzta @2
Awe wid ey Ifm oitg | Aotz Afzs il 331 Waa A
(zg fofR Area uFis wgss 22qifzran | 392 iyl 2309
Atfsta, Stz1a stz Toefe $328 Itfors =ifse ; @iz Jx
(reefaae fIFTe 220e =TT 239 |

(4) faatxY | At fasb AFe Avg o Aoy <Naxyme 20
fiztal SiATtra cresta s, 4usa farsistal, Szt Afze Hor
HE 5 9

wafacz | o] wfas 22331 @2 39 fastn sfacsea ¢
aoeTea 2fezin ity I, Szt @ S 377 FeEmiires
Afze g7 FfAATCE, FYFS FO) oG] I3 «12 | A TN
Ffaaitg, AT ANY AT Z2T(CE, ﬁm oy, AT, FUTW,
fReite ARM ASy-ofiein Ffamg | AT @I @1 TS 13,
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feg For-taTaa ¢z =iitg | crest, fawres, fa@-aiyy, ser-Ay)
AT AT oS |
(©) 9T FqF FRA-ICEA FeAHFa @ otE@eir 20

gifas | & A@frsiee @ g e fowl frata fafae, g
FRTL Tz, "3 A@std, Sify gwed ZZArF zecs foa-famiy
AZLS(E ; AT @ fog ALz =iwg, ofFl cStFA W[F gATS
ARt fawa =Arsa 7 ozl efwa wwEsl = I, & AFa
ol Ty forota wygs fafzs Hitg | FNF3 TP 27, Szl
fror 18 eduwa it @ AFa gfy wfewy ¥xx Ffae |
@zFee Afaey Ffaa 6, 38 (F1H8 w4 @ty @A A1 | O

Gi AT (2 Gz IR OGS WY Gfae @, wLgq |1 H2Ire

Sizitra “ifastaza 7=y Ta wfaa | .

2. Translate the following passage into Bengali :— 3U

To see Gokhale at work was as much a joy as an education. He
never wasted a minute. His private relations and friendships were a'l
for public good. All his talks had reference only to the good of the
country and were absolutely free from any trace of untruth or in-
sincerity. India’s poverty and sublection were matters of constant
and exclusive concern to him. Various people sought to interest him
in different things. But he gave everyone of them the same reply :
" You do the thing yourself. Let me do my own work. What I

want 18 freedom for my own country? After that is won, we can
think of other things.”

3. Write an essay in Bengali on any one of the following 30
subjects :(—

(1) The utility of the Study of Commerce.
(#1) The bazaar of a prosperous village of Bengal— detailed de-
scription; type of buildings or sheds; articles exposed for sale; the

bazaar and a Calcutta market under Municipal control : a comparison
and contrast; benefits derived.

(122) Any historical novel you may have read.

HINDI COMPOSITION

Paper-setter and Examiner—MR. NALINIMOHAN SANYAL, M.A.

Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin sndicate full marks.

1. Translate any two of the following passages into Hindi :— 36

(@) Feeling much disappointed by your failure to settle our
account according to promise, we are compelled to say that the profits
on our business will not admit of longer credit. At the same time,
we should be sorry to inconvenience you, and will, therefore, fix the
25th 1nstant for payment, after which 1t will be quite impossible for
us to wailt, however unpleasant the alternative.

24—30
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(b) In reply to your enquiry of the 15th instant 7e the shipment
promised by the second week of this month, we regret that at present
we have no advice from our Indian friends, but we are expecting
same by every mail, and as soon as we hear we will communicate at
once with you. There is a steamer due in on Thursday, and we shall
doubtless have the desired advice of shipment by same.

(¢) The national revenue is derived from several sources, but the
chief source 1s taxation. The taxes imposed by the authority of
Parliament are partly permanent and partly temporary. The great
majority of them are permanent, but, in order to maintain the control
of Parliament over the executive government, some of the most im-

portant of them are imposed for a year only.
2. Translate two of the following passages 1nto English :—

(@) S=w-"94Y =t Iafa & f@F W syt & g vaa fGwar
ATTRT R} | AT FN2 K2 TG SA-H & 7§ Wrg-Irar ¥ awn
I qafd M@ea 2 B ¥ 1 oW @7 M &gst T wiu®w-§ =wfys
290 IS [T AT SCq F, qagT @ AHG @7 W WM wus
N SN FA T STHATH HEA AN AR FAT @I} WUA SN § SEN[-
Y¥Y T Farhive @1 SAfa AT I [@F T TR FGTEHR 4 GI&@Q
AfF @ FE 9, gEh! AN TS & GAEAE & Qa1 99 T3 f@ASq a st
qT W HRATTHRL 91 (@7 2 |

(b) Su-sfear-suqt @ I@ S ® UIUUW HTF T W WA
FreTQ @7 g} fagfaal & fad |gewa <€ wRdg SgdE &1 9 © a4r |
Fad SRl 9¢ SHRIET &1 AEsT T TE AGT, ST AT S GRS
N =@M F G GHRAAI-Ye T TATS. Al 11 GHA G | & SN NG
faqre Wifaw 9™ d9r FHGTIRT AgHZ A F e MNanfira o= iy
S M9 uw wiRdly @@ }1 FE AT @l BH FA! Aol ; FH! Fad
SgH] S F 14 Hil &G @it © |

(c) far &t g =1 ufawet 9 & @3 9T |/ FAagwar
9 2, T ST 99 & SFH-YF AR T | TH ARY 9 §9R K
el &1 994 Ffys qoeifasn Ra sl qa # € fa 9 S - sl &
|7y wftw-& FfYw AT AT 95, TgaT GG F Q1A F w97 S &y
witw @ =fus |9 @Ur 937 1 SH! AU 9&8F YT JAYKG YT §® AU

&1 29T ULl & AR 8 s SAG |IAT q1%d7 2 |
3. Either,

Write a dialogue in Hindi between two persons, one of whom
is in favour of service and the other in favour of the adoption of

some manual work for his living.
Or,

Write a letter in Hindi to a {riend of yours, explaining the ad-
vantages of a commencial education.

4. Write an essay in Hindi on one of the following subjects :—

(a) Joint-stock Companies.
(b) Agricultural Banks. *
(c) The jute trade of India.

A — T R

24

16

24
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ASSAMESE COMPOSITION
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Papcr-setter and Examiner—MR. SURYYAKUMAR BHUIYAN, M.A.

Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.

1. 'Translate any two of the following passages into Assamese :—

(«) * Busy England,'—I like that name. It reminds us that our
land is a hive of busy workers, and that it is work that has made us,
Englishmen, what we are. There is no room for 1dle loafers here.
Many different kinds of work are done in different parts of the country.
But it is no mere chance which keeps certain work to certain districts.
The nature of the district itself settles the kind of work to be done
there. The farmer is the food-producer of the country. He produces
bread and meat, butter and cheese, eggs and poultry, and other things
as food for the people; and besides all this, he has to grow suitable
food for all the animals he rears on the farm. The success of his
work depends almost entirely upon the soil and climate; and En%land
15 fitted in every way as a splendid agricultural country.

(b) The sudden death of Sir Asutosh Mookerjee, which occurred
at Patna on Sunday, the 25th of May, 1924, came as a great shock to
Bengal. Although he had been unwell for some time, his end was
totally unexpected. In his death not only Bengal but the whole of
India has suffered a great loss. As a lawyer, as a mathematician,
as an educationist, as a man of affairs, and as a scholar, he made a
deep and abiding impression upon his generation. It will be difficult
to find 1n the whole country a man to compare with him. In his
mode of living he was a Bengali of Bengalis. Except for his scholar-
ship and deep knowledge he had nothing of the West in him. The
vehemence with which he championed a just cause and dashed Lis

opponents’ arguments to piecese had won for him the epithet of ‘‘ The
Bengal Tiger.”

(c) The supremacy of tea as the cheapest drink in the world—
excepting water of course—is absolutely unchallenged. It is a good
drink and a pleasant drink : it is easy to make, it is produced by
scientific methods, and, because of its cheapness, it is scarcely liable
to adulteration. One pound of good tea should make about two hundred
cups of liquid; moreover, if it is properly made—a most important
consideration as every housewife knows—even doctors admit that its
effects are beneficial and not harmful. Although of comparatively
recent 1ntroduction into England, tea is believed to have been dis-
covered 1m China eo long ago as 2700 B.C., and was in common use
as a beverage 1n the sixth century. Tea reached Europe in the
seventeenth century, and about 1645 the English began to use it.

2. Translate any two of the following passages into English :(—

(a) TIN 4199 I AFTA NHILF (2] AfGst | 3
qiziy o o +#Hme Azt SifE sw | FE @it
TRz MeAfeT | FES @y 19721 €T AR 4F | qiiR
P F5h ST BONTWR T8t T Torets Wiz} | (i3 CFfy fists
Zife o JR NT | AT G=FA T[0T 77 Tife
wifea (¥ fEre gzt t2fRe | s wifs stfa W3 =99

TRZ RS et | 7ifd 713z Otst Tz Sfery e

15

15

156

10
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iz dheF | I8 R oty AFee wife ife Itfs fx «I=,
51Se, =te 2etfr =iifes a1y |

(6) AAITS AP IZSLF fIPIZ WIA] 48 | aAF aOF
Bo1 7179 2RI 7fd = Borifre gemis fagra AT 23 RIRIW |
gx, ¢, Fifds, IFSl Aptal =i, Sifsa-fefas 13 Mg,
6iRe pR IR A3 = feg fAwigx QIR S ata o]
¥ 399 Ol 928 | @8 Aoy ARe Ainzs fFam Safex

aBea WIfaty OfF ¢F BT cAlgify 1 Figez fazi] Iens faag
3, eifIata], =iF €], S AT st ATGRA IR Tife

Bafe Aif4a =iifvee | R 3@ 35z Ifa 3we ; I Ao
IS ATRLZ F-7 3G FIfAF7 FII ALK SAFII A4 21T

(c)  fAAlT AATG Yiz-HiZI] FqASIEIZe [N AQw=
oy TS WiF WIS AN Wifge | AANS (SEF @SS
wfys ot “12fea | «ffw cqwtfa 5eTs ATIE SF 1] 3 e, —
“qiv SIfie wEie coiTiR Y 2, SN i IR
e s ity Ve I ® Yz I ofq Ay
Sl Bty TS IAMIITZ LA (¥, (&Y IIST 8IS T Wb
tfy wfwg dgs I3 @ S oI JAF ¢3-03 7| A
3531, 2317 fFEMaT A5rs AJBF CAFARS @it FTSTTHTZL

soeiy AfIons 3fea | A@itze 987 afem| ifice
yystanzaq AN oI 3 fatfayrts afw] ¢oalx Fgtte |

3. Frame sentences, illustrating the meaning of any five of the
following expressions :—

cotterl, Aow, wifaaz, ifziRY, @d, WHIF, T-°115, FARW
519, FA19q oS!, ATF |

4. Write an essay Iin Assamese on one of the following
subjects :—
(1) Suggestions for the removal of unemployment among the

educated middle class of your province.
(2) The book-publishing trade.
(3) Journalism as a career in India.
(4) With the advance of modern industrialism our wants have
increased proportionately to our increase of wealth.
(5) ‘“ That trade’s proud empire hastes to swift decay,
As ocean sweeps the laboured mole away;
While self-dependent power can time defy,

As rocks resist the billows and the sky.”
—The Deserted Village.

(6) The various kinds of Insurance.
(7) Industrial Exhibitions in India : how far they are a stimulus

to trade.
(8) Strikes and their effect on trade.

(9) The factors which should be taken into consideration for

ensuring success in business enterprises.

10

: )

10

40
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URDU COMPOSITION

373

Paper-setter and Ezaminer—SHAMS-UL-ULaMA DR. HIDAYET

Husain, KinaNn BAHADUR.

Candidates are required to give their answers in their own
words as far as practicable.

The figures tn the margin indicate full marks.

1. Translate into Urdu :—

(a) The function of the theatre is twofold, and though to educate,
intellectually, morally, socially, and splrltually, is its premier function
or aim, it cannot, therefore, be considered as of greater human irn -
portance than its other function which is the delight and joy of all
Art. The theatre is a great composite organisation of all branches of
art, in literature, poetry and prose, in the play presented; in music
of language, voice, and instrument; in rhythm, in dance, and in every
gracious movement of the human body. o

(b) Compare the body to an engine driven by steam generated by
coal. Our food, like the fuel, supplies us with heat and power, but.
unlike the machme we Imay derive pleasure from the process of taking
in the fuel. While the food is being changed in our bodies heat 1s
formed, and we are in this way kept warm. One use of clothes 1s to
keep this heat from escaping. Hungry people often feel cold. Hunger
is 1In most cases a healthy sign that food is needed to replace some
parts of the body which have been worn since our last meal.

2. Translate into English :—

.JLJMIJHM -.,..q_}ié_ )‘tﬁ"“"‘&" )g)f J‘!rﬂ_a

2 b S jule ol ek GG, die )
. C € R J‘}""w w0 3 ot Tt T

bl 3 ye0 o ol e Sla 3 ) ) ,._,;,, ut..uls G
;-’ Js S 5l i ) 2 1€ oyl h"“‘“‘ T &

k‘_,fu D =K 2 Uyp lae W3 B4 . 50 ))I 2 &Y
% AD || é .3 ey BS £ joiew g a0, Ko S ,J)u

3. Explain the following idioms and illustrate theu' use :—

L‘.‘JKJ"‘ ﬁ)' - \_-)l"‘l"!-"" ' )._p S \:)L. & ubo - Lo r

25

10

x USK ety - Gy ol - ), Kae

4. Write an essay on one of the following subjects :—

() An infant i1ndustry requires State ald to prosper.
(11) Co-operation in India.

w(”'""—-,:"'D B 2 J‘L" ‘J’)J —
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TAMIL COMPOSITION

Paper-sctter and Examiner—RA0 BAHADUR L. K. ANANTHA-
KRISHANA IYERr, B.A., L.T.

Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marlks.

1. Translate into Tamil any two of the following passages : —

wt

(a) Economics may be regarded as that science which tells us how 2
to secure from things the greatest pqssible amount of whatever sort of
satisfaction we desire. Of course, we cannot measure satisfactions as
exactly as we can measure heights and temperatures; but we can
nsually say whether our satisfaction i1s 1ncreasing or decreasing,
especially if we restrict ourselves to the more material and less
spiritual sorts of satisfaction, and most economists. do so restrict the
scope of their discussions. Things from which we get satisfaction
are called wealth; so it is possible to call economics the science of
wealth. But 1t 15 a little unwise to do this, because it may lead
people to think that there are certain objects 1n the universe which
always have been and always will be wealth, whereas there are no
such objects. A thing 1s wealth only so long as somebody can pget
satisfaction from i1t. There was no wealth on Robinson’s island before
anybody came to en'oy the things that were there : and the money
which he found in the cabin of the wreck was not wealth at that
time and place.

(b) A group of people, let us say a nation, have only three methods 25
of 1ncreasing the annual addition to their wealth. They can make
MARE Use of some wealth saved from a previous year; they can
borrow some wealth from another country and pay it back in future
years; and they can produce more wealth in the present year. The
first and second methods are often used, but it is obvious that they
cannot be used continually; in the long run a nation can gef more
wealth only by making more. Now just as the size of a cake will
partly depend on the ingredients used and partly on the way in which
they are mixed and baked, so the annual amount of wealth prodnred
in a country will depend partly on the things used in production—
the factors of production, as they are often called—and partly on the
way 1n which they are used.

Undoubtedly the most important of these is labour, both physical
and mental; or i1t is impossible to have production without labour,
although we may have labour without production.

(¢) By the end of the eighteenth century Adam Smith boasted 25
that 1t took eighteen men to make a pin, each man doing a little bit
of a job and passing the pin on to the next, and none of them being
able to make a whole pin or to buy the materials or to tell it -vhen
made. The most you could say for them was that at least they had
some 1dea of how it was made, though they could not make Iit.
Now as this meant that they were clearly less capable and knowledge-
able men than the old pinmakers, you may ask why Adam Smith
boasted of it as a triumph of civilization when its effect was so
clearly a degrading effect. The reason was that by setting each man
to do just a little bit of work and nothing but that, over and over
again, he became very quick at it. The men, it is said, could turn
out nearly five thousand pins a day each, and thus pins became
plentiful and cheap. The country was supposed to be ri¢her because
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it had more pins, themgh

it had turned out capable men into mere
machines doing

their work without intelligence, and being fed by
the spare food of the capitalist as an engine is fed with coals and oil.
That was why the poet Goldsmith, who was a farsighted economist

35 well as poet, complained that ‘‘ wealth accumulates and tnen
ecay.’’

2. Write a letter in Tamil to Messrs. Norgate & Sons, Ltd., 76, 20
High Street, L.ondon, requesting them to grant you their sole agency
for India in respect of their medical products.

3. Advise a friend of yours (in Tamil) who has written to you 15
asking you what steps he should take to convert his printing business
into a limited company.

4. Write a short essay in Tamil on any one of the following 15
subjects :—

(a) Correct Accounting as a factor of promoting business.
(b) Hoarding habit in India.

(¢c) Any 1important cottage industry in your
the methods by which it may y improved.

village, indicating

FRENCH COMPOSITION
Paper-setter and Examiner—DRr. Kavripas Nac, M.A., D.Lrr.

Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.

1. Translate into English :—

(a) Lies reparatione, avons-nous dit, ne peuvent s'effectuer
indépendamment de la réorganisation europeenne dont elles font
partie. ILes vaincus ne peuvent y suffire de leur c¢6té, les vainqueurs
non plus du leur. Leur collaboration s'impose. Cette collaboration,
c'est la justification tangible de ce que Mon. Clemenceaun appelait
ironiquement ‘' les théories d'independance universelle.”’ Cette im-
puissance de valnqueur & saigner & blanc le vaincu, ce desir de le voir
a& nouveau pulssant et exportateur, c’est la preuve éclatante, qu’une
nation, loin de profiter de l'affaiblissement de ses voisins, en souffre.

(b) ‘‘ Reconstruire 1'Europe,’’ cela signifie non seule-ment ré-
organiser et faciliter les échanges par l'accroissement des tramsports,
'abolition des barriéres douanierés la stabilisation des changes et la
réouverture de tous les marchés, cela signifie aussi réorganisir, con-
solider, accrditre les centres et les blocs producteurs. Or, 1’Allemagne
e'tait considerée comme le soutien central du systéme producteur
européen. Fer, charbons, minéraux lui donnaient, en mnotre . siécle
d'acier, un rdole primordial. Qu’'on le veuillle ou non—ce nést pas e
la politique, c'est de la géologie. Depuis la guerre, le fer appartient
a la France. I.'axe du bloo économique est désormais entre la France
et 1'Allemagne.

2. Translate into French :—

80

It 1s Eastern Bengal, along the common estuary of the Ganges
and the Brahmaputra, which is the most fertile, healthy, and populous
area that is progressing while the Western Bengal is in a state of
decay. The rice harvest seldom fails in Eastern Bengal where, in the
lower delta, for example in the district of Noakhali, 87 per cent. of
the land is devoted to rice cultivation. Further north lies the jute
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country and Eastern Bengal holds a sort of monopoly in jute in the
world. Dacca once centralised the famous muslin industry so much
appreciated 1n Kurope for the exquisite fineness of texture rendered
possible by the humidity of climate. XEastern Bengal thus offers Lhe
most favourable economic and agricultural conditions.

3. Write a short essay in French on :—
Either,
(a) the jute cultivation of Bengal.

Or,
(b) the labour problem in Bengal.

GERMAN COMPOSITION
Paper-setter—Dr. STELLA KrAMRIscH, D.LIT.
E:}:a;zfnw—[ J. S. TArarpOREwWALA, B.A., Pr.D.

“andidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.

1. Translate into English :—

In diesem Augenblick durchschauerte mich die schreckliche Bemer-
kung, dasz ein unergruendlicher Bloedsinn auf allen diesen Gecichtern
lag, und dasz alle Menschen, die eben vorbeigingen, in einem wunder-
baren Wahnwitz befangen schienen. Ich hatte sie schon vor zwoelf
Jahren um dieselbe Stunde mit denselben Mienen, wie die Puppen
einer Rathausuhr, in derselben Bewegung gesehen, und sie hatten
seitdem wununterbrochen in derselben Weise gerechnet, die Boerse
besucht, sich einander eingeladen, die Xinnbacken bewegt, ihre
Trinkgelder bezahlt. und wieder gerechnet : zweimal zwei ist vier.—
Entsetzlich, rief ich, wenn einem von diesen Leuten waehrend er auf
dem Xontorbock saesze, ploetzlich einfiele, dasz 2zwei mal zwei
eigehtlich fuenf sei, und dasz er also sein ganzes IL.eben verrechnet
und sein ganzes Leben in einem schauderhaften Irrtum vergeadet
habe. Auf einmal aber ergriff mich selbst ein naerrischer Wahnsinn,
und als ich die vorueber-wandelnden Menschen naeher betrachtete,
kam es mir vor, als seien sie selber nichts anderes als Zahlen, als

arabische Ziffern.
2. Translate into English :(—

Von allen festlaendischen Auftraegen, die wir durch Sie erhalten
und ausfuehren, gewaehren wir Thnen ebenfalls Provision; da wir aber
bereits ausgedehnte Verbindungen auf dem KXontinent haben, so
koennen wir Ihnen die Alleinvertretung mnicht uebertragen. Die,
Provision, die wir bereit sind, Thnen zu bezahlen, ist 5 per cent. von
den Nettobetraegen aller Verkaeufe, die von Thnen fuer uns erzielt

und von uns ausgefuehrt werden. _

Wir sind auch bereit, den Kunden 2} per cent. monatlich bei allen
gewoehnlichen Preisen zu gewaehren; und bei besonderen Auftraegen
musz ein besonderer Diskonto vereinbart werden.

Ferner gewaehren wir Thnen 2} per cent. fuer das Delcredere, da
Sie Thre eigenen Verbindungen haben und wir auszerdem ungehindert
zu sein wuenschen, um unsere Energie soviel wie moeglich der
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Diskonti und Praovision am ersten des zweiten darauf folgenden
Monats uebermachen, die Verkaufsrechnungen fuer Januar wuerden
zum Beispiel am 1. Maerz durch Thren Scheck bezahlt werden.

3. Translate into German :— 15
Your favour of yesterday crossed ours of the same date. . .
Acting under instructions from Mr.—, I beg to inform you . . .

I have the pleasure to send you enclosed my new price list. . .

We are indebted to a business friend for your address, and. . .

In continuation of my letter of the day before yesterday, I beg
to inform you that. . . .

We confirm our letter of the 1st inst. and as we are still without
your reply. . . ..

To our regret, we are compelled to bring to your notice. . . .
The object of this letter is to tell you that. . . .

4. Write a short essay in German on any subject of general 25
or. commercial interest.

GENERAL ECONOMICS

Poper-setter—DRrR. PRAMATHANATH BANERJEA, M.A. (CAL.),
D.Sc¢. (Lonpon), M.L.C.

Araminer—MR. PRAPHULLACHANDRA GHosH, M.A., B.Sc.

Candidates are required to give their answers in their own
words as far as practicable.

Six questions only to be attempted.
The questions are of equal value.

1. ° Competition and co-operation go hand in hand in modern industry.’
Fully explain. \

Is it desirable to restrict the scope of competition in any way?

2. Discuss the advantages of large-scale production.

Are there any industries in which small-scale production 1is 1more
advantageous than production on a large scale?

3. Discuss the part played by capital in modern industry.
4. ‘' Credit is capital.’”” ‘‘ Credit i1s not capital.’” Discuss.

5. How are wages determined in modern industry?
Discuss the relation between wages and the efficiency of labour.

6. How would you account for the frequent conflicts between Ilabonr
and capital? .
Suggest some methods by which industrial peace can be secured.

7. Discuss the advantages of international trade.
Summarise the main arguments in favour of protection.

8. What 1s Gresham’s Law? Clearly explain the different applica-
tions of this law.
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9. Distinguish between legitimate and illegitimate speculation.
What means would you adopt to prevent illegitimate speculation?
10. Define °‘ tax.’

Do you accept the progressive principle in taxation? If so, why?

INDIAN ECONOMICS
Paper-setter—MR. SATISCHANDRA RaAy, M.A.

Examiner—MR. PRAMATHANATH SARKAR, M.A.

Candidates are required to give their answers in their own
words as far as practicable.

Attempt only s1x questions.
The questions are of equal value.

1. In what manner do the conditions of Indian society affect the
economics of the country?

2. BState the main features of what is called *‘‘ discriminating protec-

tion.”” To what industries has this kind of protection been applied, and
with what results?

3. What are the factors regulating Rent, and how is the latter affected
by each of these factors?

Define ‘‘ economic rent.’’ Is the land revenue of India * rent '9

4. Describe the organisation of internal trade of India. What part
does Government play in financing it?

o. Indicate the various stages of famine relief work in Tndia, and
the general plan of work carried out in each stage.

_ 6. State the constitution and functions of (1) co-operative societies
with limited liability; (2) of co-operative societiess with unlimited liability.

How are co-operative societies financed? Discuss their economic and
educational values.

e Z’E Indicate the functions and the constitutional position of the Tarift
ard.

] Consider the grounds of affording protection to the Indian Steel
industry. (Alternative to . 10).

8. Enumerate the causes of depression in the Indian Cotton industry

and discuss the measures proposed by the Tariff Board for affording relief
to the industry. (Alternative to Q. 10).

9. What are the causes of the large exp
India during and after the War? How has
Indian currency system by legislation ?

10. Discuss the principle of State interference in industry. What is
the policy of the In

\ ( dian Government towards the development of industries
In this country?

ansion of paper currency in
elasticity been securad to the
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ACCOUNTANCY
Paper-setter—MRr. RanJsiT Ray, M.A.
Ezaminer—MR. G. Bosg, B.A.

Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.

1. The following is the Trial Balance of a Company on Dec.
31st, 1928 :—

Rs. A. P. Rs. A.P.
Stock, January 1st 20,000 0 O [Preference Share 25,000 0 O
Book Debts ... 20,000 0 O Ordinary Shares 25,000 0 O
Plant and Machi- Creditors ... 10,000 0 O
nery ... 10,000 0 O Reserve a/c ... 18,000 0 O
Wages 5,000 0 0 Sales ... 1,50,000 0 O
Salaries 2,000 0 O
Freehold Property 30,000 0 O
Travelling Ex-
penses - 2,500 0 O
Purchases ... 1,00,000 0 O
Cash ... 30,500 0 O
220000 0 O 2,20,000 0 O

S—

Stock on Dec. 31st was Rs. 25,000. It is resolved to write 10
per cent. off Plant and Machinery; to reserve on Bad and doubtful
debts account 10 per cent. of Book Debts; to place Rs. 1,000 to a
Bonus fund for the staff; to place Rs. 12,500 to Reserve; to pay
6 per cent. on the Preference shares; to pay 6 per cent. on the
Ordinary cshares; and to carry the balance forward. Prepare the
Trading and Profit and Loss Account for the year, and the Balance
Sheet as at its close, after appropriating the profits as directed.

Or,
You are given the following Manufacturing a/c and Profit and
Loss a/c and are asked to state what corrections are mnecessary.

Prepare the correct accounts and give your reasons for the alterations :—

Manufacturing Account far the Year ending 31st Dec., 1928.

Rs. Rs.
To Stock 8l1st Dec., 1928 13,241 By Sales oo 91,240
To Purchases e D&ATTT ., Returmn of Goods
To  Return of Goods sold -~ 1,120
bought vk 1,781 ,» Stock, 1st Jan.,
To Rent of Office 980 1928 ... 07,087
To Gross Profit vee 39,268

1,10,047 1,10,047

379
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Profit and Loss Account for the Year ending 3lst Dec., 1928

Rs. Rs.
To Repairs to Plant 388 By Gross Profit ... 89,268
To Machinery purchased ... 3,500 ys Discount Paid ... 2,152
To Salaries ... 4,600 y»  Depreciation on
To Carriage of Raw Machinery ... 3,000
Materials ... 92,891 ss Agents’ Commission
To Carriage of Goods :old Paid 412
recovered from Buyers ... 1,976 ,» Bad Debts Reserve 625
To  Salary of Factory
Manager .. 1,100
To Bad Debts 541
To Factory Rent 500
To Profit (Net) .. 30,061
45,457 45,457
2. Journalise the following transactions of a limited Company :— 15

The Company was registered on 1lst Jan., 1929, with a nominal
capital of Rs. 1,20,000, divided in 12,000 shares of Rs. 10 each, of
which 4,000 were issued as fully paild up to the vendor as part pur-
chase consideration, 4,000, offered for subscription to provide working
capital, payable as to Rs. 2-8 per share on application, Rs. 2-8 per
share on allotment, and the remainder in two calls of Rs. 2-8 each.
4,000 shares to be held in reserve for future issue. The vendor also
received Rs. 10,000 in 5 per cent. Debentures being the balance of
purchase consideration.

Jan. 5th. Applications were received for 3,600 shares.
Jan. 6th. Allotment made of 3,500 shares.

Jan. 10th. Amount due on allotment of 38,500 shares was
received.

Feb. 10th. First call of Rs. 2-8 per share was made, payable
on Feb. 24th.

Feb. 10th. 4,000 fully paid shares allotted to vendor.

Feb. 10th. 5 per cent, Debentures issued to vendor
for Rs. 10,000 balance of purchase money.

Or,

Give the necessary Journal Entries required to correct the following
errors discovered by you in the books of a Company :—

(1) In the Bill Register & bill for Rs. 1,000 against A.B. &
Co. has been entered as Rs. 100.

(2) Payment to landlord of Rent amounting to Rs. 400 has
been shown in the cash book as Rs. 450.

(3) An amount of Rs. 600 was paid to Mr. A., but was
shown as if it was paid to Mr. B.

(4) An amount of Rs. 2,000 was received from D. & Co.,
being refund of advance made to them, but this was shown
as a receipt against sales. *
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3. AB, a merchant, had on Jan. lst the following :(—

Balance Sheet.

Rs. Rs.
To Capital 28,425 By Cash at Bank 11,040
To Sundry Creditors— Do. in Hand 955 -
G. & Co. ... 1,500 11,995
H. & Co. .. 9280 ,» Investments 19,000
L. & Co. ... 260 .,  Furniture 1,870
J. & Co. ... 4,000 ,» Motor Car 2,100
K. & Co. - 590 3,970
6,630 ,» Sundry Debtors—
To Salaries 870 J. G. & Co. 200
A. W. & Co. 170
W. g & Co. 370 -
J. G & CD. 200
960
— ®

35,925 35,925

e —

AB transactions on the 2nd Jan. were as follows :—

He received orders (which he executed) from J. 8. & Co. for
2 doz. chairs @ Rs. 150 per dozen:; from J. W. & Co. for 6 chairs
@ Rs. 78 per doz.; from E. C. & Co. for various goods amounting
to Rs. 1,000, and from T. J. & Co. for Rs. 40. He received cheques
from the following: A. W. & Co. Rs. 170, W. J. & Co. Rs. 370,
J. G. & Co. Rs. 20. He received back from J. J. & Co. goods to the
value of Rs. 50. He purchased from J. C. & Co. goods to the value
of Rs. 800 subject to a discount of 2} per cent. for immediate cash
and for which he drew a cheque. He drew a cheque of Rs. 100 for cash.
He arranged with E. C. & Co. to allow him a cash discount of 5 per
cent. for the amount of his order, and received a cheque in settlement.
He paid the following accounts: G. & Co. Rs. 1,500; J. & Co.

Rs. 4,000. He paid salaries amounting to Rs. 870 and took AWay
with him Rs. 50.

Enter the above transactions in the necessary subsidiary books.
post to the Ledger, and prepare a Trial Balance.

4. What 18 meant by the term *‘‘ Depreciation ''? Give three
methods of depreciation usually met with.

Or,

Briefly explain and contrast two different methods of providing

for the depreciation on Plant and Machinery. Which method do vou
advocate, and why?

b. A, B, and C, in partnership, having capitals of Rs. 50,000,
Rs. 20,000, and Rs. 10,000 respectively, agree that interest at 5 per
cent. on capitals shall be charged to Profit and Loss Account: that
each shall have a salary of Rs. 500, and that the profits and losses
shall be shared in proportion to capitals. The first year’s trading
results in a profit of Rs. 21,000, before charging interest on capital

and salaries. Show how much each is entitled to draw so as to leave
their capital accounts intact.

6. C and D were in partnership; C, who had money, providing
Rs. 10,000 cgpital and D, who had more experience, providing only

Rs. 500. In addition C had lent the firm Rs. 1,000 half way through

381
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the year. There was no agreement between them beyond a verbal cne
that profits should be shared equally. The first year’'s trading resulted
in a profit of Rs. 5,000. C contended that interest at the rate of
6 per cent. should be charged upon capitals and upon the loan before
dividing the profit.

Was he correct? If not, show how the profit should be dealt
with and your reasons for dividing in the way you do.

ECONOMIC GEOGRAPHY
Paper-setter—DRr. MaNomMoBAN Ray, M.A. PH.D.

FEFxaminer—DR. NALINIMOHAN PAL

¢ The questions are of equal wvalue.

THREE questions are to be attempted from EACH half.

FirsT HALF

1. Describe the economic developments that have taken place in the
.equatorial belt of Africa in recent years. How is India going to be
affected by the progress made so far as her (India’s) (a) agricultural
exports and (b) industrial products are concerned?

2. Describe the distribution of linen iIndustry of Northern Xurope
(excluding Great Britain and Ireland). Where do the raw materials come
from for this industry? To what extent is that industry dependent on the
supply of raw materials from India?

8. . Name the most important rice-exporting countries of the world.
From what sources is rice imported into Great Britain and to ~ountries
of Northern Europe? What is the present position of India including

Burma in this export trade?
4. Discuss the position of Canada as—

(a) an agricultural country, and
(bY a producer of minerals.

Describe the recent developments in transport facilities that have
given impetus to agricultural production in Canada.

5. Describe the developments that have taken place in communication
in the ‘ Middle East ' in recent years. What are the commodities whose
supply In the world market is expected to increase by these developments?

SEcoND HALF

6. What are the sources from which India gets her supplies of
petroleum products? What do you know of the last ‘ oil war ' in India

‘and how was it terminated ?
7. Describe the distribution of non-ferrous minerals in India? Where

are these mined at present? Do you think that India can be self-supporting
in these minerals?

8. What do you know of the hydro-electric developments of Northern
India? What are the sources from which this power is obtained there and
to what use is this supply of power mainly put?

9. What are the main commodities of trade of India acroes the morth-
-western frontier? Do you think that there is any possibility of a revival
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of trade between India and Central Acia including Chinese Turkestin?
State reasons for your answer.

10. What 18 the present position of Paper industry in India? What are
the raw materials used in the industry and where does the supply come
from? Do vou think that the Indian industry can supply the requirements
of the country? State reasons for your answer.

BUSINESS ORGANISATION

Paper-setter and Ezaminer—MR. MOoOHITKUMAR GHOSH, M.A.
(Car.), B.Com. (LonDp.).

Answer ANY FIVE of the following questions.
The questions are of equal value.

1. What do you understand by Scientific Advertising? e Discuss care-
fully the elements which a good copy of an advertisement should embrace.

2. What do you consider to be the essence of Partnership? If vou
want to start a business in partnership with certain other people, what
precautions ought you to take so as to avoid future disputes and c¢onse-
quent litigation ?

3. What are the peculiar characteristics of Private Companies and
what advantages do they possess?

4. What do you understand by the Memorandum of Association? _
How does 1t differ from the Articles of Association? Discuss the contents
of both.

5. What are the steps that are generally taken in the course of the
promotion of a company? In this connection discuss fully the que3tion,,
of underwriting the shares and the part it plays in the financing of _
r'.nmpartlieﬂ.

6. You are carrying on an extensive business with branches in several
countries and head office in Calcutta. Discuss carefully the system of
filing you should adopt to meet the needs of the situation in such a case.

7. Draft a Directors’ Report 1n connection with the annual mee%iﬁé'
of the shareholders in the case of a Jute mill dealing with the various
activities with which the mill i1s concerned and specially emphasizing the
need for further -expansion. Imaginary figures are to be inserted in this
report.

Y 8. Discuss the organisation of the Cal~utta Stock KExchange and eom-
pare it with that of the London Stock Exchange, bringing out the merits
and defects of each in the course of your discussion.

INLAND AND FOREIGN TRADE
Paper-setter—SIir J. C. Covaseg, Kr., B.A., LL.B.

Examiner—DR. HARISCHANDRA SINHA, M.Soc., PH.D.

Answer ANY SIX questions.
The questions are of equal value.

i. Discuss the functions and 1mportance of ‘‘ General exporters ’’ and
“ Hxport commission agents '’ in the organization of export irade; and
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account for the tendency to eliminate them in the case of large manu-
facturers.

2. In what different ways can Government measures and policy
influence and encourage the foreign trade of a country?

3. Examine the importance of the discount rate of the Bank of England
from the point of view of the foreign trade and foreign exchanges of the
United Kingdom.

4. Discuss the 1mportance of the Draft on London in the trade and
financeg, of the world, and show how that importance has been uficcted
by the great war.

5. Examine the factors which caused the fall of the Indian exchange
in 1920 and those which led to its rise after 1922.

6. Discuss the trend of the relative share of the United Kingdom
in the import and export trade of India since 1913-14.

7. Examine the institutions by which and the resources with which
India’s export and import trade is financed.

8. Discuss the main factors which have influenced India's exports
and imports of plece-goods since 1913-14.

9. Under what circumstances can the foreign exchanges of a country
rise above or®fall below the specie points?

10. Indicate the 1nfluences under which movements of bullion take
place between countries.

ELEMENTARY COMMERCIAL LAW

Paper-setter—MR. NIRMALCHANDRA CHATTERJEE, M.A., B.L.,
BAr-AT-LAW.

Eézaminer——MR. SUSILKUMAR DArTA, M.A., PH.D., BAR-AT-LAW.

Attempt FOUR questions in EACH half.

The questions are of equal value.
FirsT HALF

1. A agreed to let his hall to B for some public entertainment on the
1st December, 1929. On the 28th November, 1929, the hall was destroyed
by accidental fire. Discuss the rights of 4 and B.

2. What are the essentials of a valid contract? Can there be a tacit
acceptance of an offer?

3. What are the remedies for the breach of a contract?

4. Distinguish between a contract of guarantee and a contract of
indemnity.

s ?5 When is an agent personally liable for contracts entersd into by
im

6. State the general rules relating to the mutual relations of partuers.

7. Cutter was engaged for a lump sum of £30 to serve as a mate on
a voyage irom Jamaica to Liverpool. He died after two-thirds of the

voyage. His sons claimed payment for what he had done up to the tiine
of his death. Will they succeed ?

SECOND HALF

8. A, a passenger by train, owing to the Railway not making a
connection, loses some business appointments, has to walk to his destina-
tion, and catches cold. He wants to recover for his loss of business, and
for his 1llness, as well as for his personal inconvenience. Advise him.
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"

9. What are the grounds for the compulsory liquidation of &8 Company?
10. Distinguish between the different kinds of negotiable instruments.

11. On what grounds can you apply for the adjudication of a person
213 an Insolvent ?

12. Is a Bill of Lading a negotiable instrument? v’

13. Write a note on contra~ts which the Law will not enforce.

14. B, at Delhi, orders goods of A at Calcutta. A consigns and {orwards
the goods to B at Delhi. On arrival there, they are taken to the ware-
house of B and left there. B refuses to receive them, and stops payment.
A wants to exercise the right of stoppage in transit. What is your advice?

BANKING AND CURRENCY

YrrsT PAPER

( Mr. N. L. PurlL

Paper- —
nper-seticrs U Dr. HariscaaNDrA StvEA, M.Sc., Pa.D.

T I
) 1 , PH.D "

The questions are of equal value.

Only six questions should be attempted.
!
1. What is meant by discounting a bill? Classify the various forme
ol bills presented to a bank for discounting. Is it better for a bank to
discount long dated bills or short dated ones? How do banks fix the rate
of discount ? .

2. Differentiate between the liabilities of a paying banker and
collecting banker. A cheque drawn on the National Bank of India, Ltd.,
payable to the Union Bank of India, Litd. A/c AB or order is cashed and
placed to the credit of CD. Discuss the liability of both the banks.

3. Draw up a specimen annual balance sheet for an Indian Joint-
stock Bank.

4. Criticize the following forms of endorsements from the point of
view of the paying bankers, giving your reasons in each case :—

Payees’ name. Endorsement.
(a) Messrs. Smith or order ... Smith Jones & Co.
(b) Mr. Henry Jones or order ... Henry Jones, Treasurer, Mayo
Hospital.

(¢) Smith & Co., Litd., or order For Smith & Co., Ltd., J. Jones,
Pro Manager.
(d) Messrs. Davies & Co., Ltd. For and on behalf of Messrs. Davies

& Co., R. Browne.

5. Define ‘‘ Paper money.”’ KExplain (1) the banking principle and
(2) the currency principle of note regulation. Which of them 1is prefer-
able? Give reasons.

6. What do you understand from a ‘' managed currency? ' Descrile
briefly its advantages and disadvantages.

7. Explain the relation between price levels and exchanges. How
does am unfavourable balance of trade affect the rate of exchange.

8. Write short notes on the following terms :—

(a) Inflation, (b) Bimetallism, (¢) Council bills, (d) Paper

Currency
reserve, (e) gold currency reserve.
4 ]

26—30
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SECOND PAPER
The figures in the margin indicate full marks.
Not more than six questions are to be atitempted.

1. Write a short essay on ‘‘ Financing of World’s Trade by
London,” under the following headings :—

(@) Reasons for London’s supremacy ;

(b) Methods of financing; and

(c) Present position.
2. Explain fully the following report of the Calcutta Money
Market

for the week ended July 19, 1928 :—

‘“ Though the difference between ready T.T. and cold weather T.T.
remains unchanged at id., it is more evenly distributed, and forward
commands a premium of only %d. per month to the end of October. .

““The closing rates are : 1s. 52%d. for July T.T. : 1s. 513d. for first
half August T.T.; and 1s. 523d. for the second half August T.T .....

“Bills may be quoted : 1s. 635d. up to August 1: 1ls. 645d. from
August 1 te August 15; and 1s. 6%%d. for the rest of the montn......

““ With ex&nange at its present low level and forward T.T.'s ab
a stiff premium, there is hardly any inducement for banks to remit
funds to London in order to take advantage of the attractive rates
obtainable there. It is therefore likely that easy money conditions will
continue in Calcutta for some time more. . . ."”

3. Describe briefly any five of the following :—

(a) Arbitrage; (b) finance bill; (¢} certificate of origin; (d)

consular invoice; (e) bill of lading;: (f) trust receipt; and (g) letter
of hypothecation.

4. Give specimens of any three of the following :—
. (@) D/A bill with an interest clause; (b) bill payable ‘‘ exchange
as, per endorsement;’’ (c¢) bankers’ demand draft; and (d) circular
» note.
+  B6. JFrance stabilised her currency i1n 1928, and decreed that the
franc shall have a gold basis of 65'56 milligrammes gold, nine-tenths
fine. The pure gold content of the British sovereign is 7-322382
grammes. From these data calculate the par of exchange between
France and England.
6. What are the limits to the fluctuations in the rate of exchange
between (@) two gold standard countries; (b) a gold standard country

and & silver standard country; and (¢) two countries that are on an
inconvertible paper standard ?

7. What constitutes international indebtedness? Give examples

of the chief classes of the transactions, and explain briefly how they
arise.

8. What effect would any three of the following events have on
the exchange rate between India and England?—

(a) A prolonged lock-out in Iancashire.
(b) A heavy flood in jute area.

(¢c) The floatation of a sterling loan by the Secretary of State for
India.

‘(d) A rise in the Indian Bank Rate to 8 per cent.

9. Explain fully the maxim ‘‘ By high, sell low,”’
example. When 1s the maxim not applicable?

10. (a) Enumerate Gresham’s Law and state its limitations.

(b) Distinguish fully between limping standard and bimetallic
standard.

giving an
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ADVANCED ACCOUNTANCY
First PAPER

_ MR. RanJsir Ray, M.A.
¥ apeT-iRieTy— { ., NarenDRA K. Majumpar, M.A.

B ey E—— MR. NARENDRANATH SAREKAR, M.A.
. S. R. BaTLIBOL.

You are required to answer Questions 1 and 3, and ANY ONE
other question.

1. The Insular Wire Company, Ltd. was formed to acquire the

business of Gabriel & Co., whose Balance Sheet at the date of purchase
was agreed as follows :—

Rs. Bs.

Creditors 25,000 Cash in Hand 1,750
Capital ... 1,30,000 Cash at Bank .. » 8,200
Debtors _— 31,000

Stock 1n Trade 50,000

Fixtures, etc. i 9,000

Machineries o 39,000

Teaseholds W 20,600

ToTAL ... 1,55,000 ToOTAL ... 1,585,000

The agreement entered into provided that the purchase price should be
Rs. 1,80,000 payable as to Rs. 1,20,000 in cash, and as to Rs. 60,000 by
the allotment of 6,000 fully paid up shares of Rs. 10 each in the Company.
The nominal capital of the Company was Rs. 38,00,000, of which 20,000
shares of Rs. 10 each were allotted on 1lst July, 1929, payable as to Rs. b
on application and Rs. 5 on allotment. The whole of the cash due in
respect of the shares was duly received. The consideration was paid by
the Company on July 20, and the vendor’s shares were allotted on that
date. The preliminary expenses amounted to Rs. 4,000. You are requested
to open the books of the Company, recording the above transactions and
prepare a Balance Sheet as at 20th July.

2. A and B agree to admit C as a partner as from the 1st Jan., 1929,
upon the following terms :—(a) C to bring in Rs. 50,000, of which
Rs. 15,000 18 to be regarded as a premium and credited equally to 4 and B.
(b) Profits to be divided as follows: 4 and B2 each and C 2 The
Balance Sheet of A and B at 8lst Dec. last was as under :—

5-

Rs. Rs. Rs. Rs.
Creditors = ...... 57,905 Plant, etc. 1,953,000
Capital 1,70,000 Less Depre-

A ... 85,000 ciation 33,000

B ... 85,000 1,20,000
Debtors 46,000
Less Reserve 9,400

36,600

Stock ... 57,200

Bank . 14,105

ToTAr ... 9,27.,905 ToTAL 2.,27.,9056

Draft the Balance Sheet of the new firm on lst Jan.
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8. A Company has a Branch at Dacca. On Dec. 381, 1929, the
Branch forwards its Trial Balance to Head Office as follows :—

Head Office a/c Rs. 381,000; Remittance to Head Office Rs. 14,000 :
Sundry Debtors Rs. 26,000; Sundry Creditors Rs. 6,000; Stock 1st January
Rs. 18,000; Purchases Rs. 69,000; Sales Rs. 1,04,000; Rent, Rates, and
Taxes Rs. 5,000; Salaries Rs. 8,000; General Expenses Rs. 5,000; Banlk
Overdraft Rs. 4,000. Stock on December 31 was Rs. 12,000. Incorporate
these transactions in the Head Office books, showing the Branch Account.
Branch Trading, and Branch Profit and Loss Account in the Head ifice
I.edger. Prepare a Branch Balance Sheet.

4. What is the difference between *‘° Hire-Purchase ' and ‘¢ Pay-
ment by Instalments? ’’ Give examples to illustrate the difference. How
should interest receivable by the seller under the ‘' hire-purchase '’ system
be recorded and dealt with in the seller’'s Books? Gilve one example of this.

5. What is the difference between the Manufacturing a/c, Trading

a/c, and Profit and Loss a/c of a Company? Give examples, 1llustrating
all these differences.

éDVANCED ACCOUNTANCY AND AUDITING

SEcCOND PAPER

(AUDITING)

The questions are of equal value.
Answer ANY SEVEN questions.

1. What are the advantages and disadvantages of *‘‘ Audit pro-
grammes ?’’

2. Assets are frequently described as (a) Fixed Assets, and (b)
Floating Assets. What do you understand by these expressions?

Are there any circumstances in which an asset usually found in one
class may properly be placed in the other? If so, give examples.

3. What are the tests which may be applied in the course of an audit

with a view to ensuring the correctness of entries in the Bought Ledger?

4. What are the duties laid by Statute upon the Auditor to a Lim'ited
Company, and what rights are given by Statute to an Auditor to enable
him to carry on his duties?

5. What steps would you, as Auditor, take to satisfy yourself that
all the liabilities (other than contingent liabilities) of a small firm of
merchants were included in the Balance Sheet?

What are contingent liabilities? Give examples.

6. An Institute submits to you, as Auditor, a Balance Sheet, the
Assets side of which is set out as follows :—

Rs.
Bank 870
Deposit ... 2,600
Insurance Policy— Rs. Rs.
000G " Pred swnIwely
3% per cent. G. P. Notes ... ... 3,200
Petty Cash 18
8,588
Less Cheques not presented ... 3,000
L 5,083
Land, Buildings, and Equipment 7,320

T?’I‘AL ... 12,908
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(a) What comments have you to make on the presentation of the items?

(b) How would you, as Auditor, verify each?

1. The Secretary of a Company informs you, as Auditor, that no
provision for depreciation of Plant and Machinery has been made 1n the

draft @.ccpuntﬂ submitted to you, as there are no profits out of which such
depreciation can be met.

Write a suitable letter to the Chairman and Directors on the subject.

8. The Directors of a ILimited Company propose to credit to Profit
and Loss Account :(—

(¢) Unclaimed Dividends ;

(b} Shares forfeited, representing sums paid on application and allotment.

Your advice as Auditor is asked. Give it and state what you wwould
do 1if the Directors’ proposals were carried out.

9. In an Audit, it frequently happens that all entries in the Impersonal
Liedgers are checked, while those in the Purchases and Sales I.edgers
(Personal Accounts) are merely tested or not checked at all.

() What is the reason for this difference in treatment ?

(b) If the postings to the Personal Ledgers are tested, what !s the
reason ? ®

(c) How 1s the test made?
10. A Balance Sheet of a manufacturing company produced to yvou for
audit includes an ascet described as ‘‘ Stock, Rs. 1,59,400.’" State brielly

what your responsibility is as Auditor in respect of the item and what
steps, 1f any, you would take to verify it.

ECONOMICS OF TRANSPORT
Fmrst PAPER

Mr. S. C. STEWART WILLIAMS.
Paper-setters— ,,  MoHITRUMAR GHOosH, M.A. (Cal.), B.Com.

(Lond.).

Mgr. MorrrrkumMArR GHOsH, M.A. (Cal.), B.Com.

BExaminers— (Lond.).
, S. C. STEwART WILLIAMS.

The questions are of equal value.
Not more than FIVE questions to be answered.

1. Enumerate the principal difficulties encountered in determining the
cost of production of passenger transport and goods transport.

Tnder what conditions is it possible, without economic loss, to charge
less than the cost of production, so far as this is ascertainable?

2. How far is the demand for railwav services an ‘‘ elastic ’’ demand:
and how far is the demand affected by outside competition ? _

8. Consider the principle of ‘‘ ad valorem '’ charging as applied tc
railways. - How far is its application to railways limited as compared with
its use in levying import and export taxes?

4. What is the most Important recommendation of the Acworth
Committee on the financial side How far has the policy of the Government
of India, inaugurat®d as the result of that recommendation, been successful
during recent years in regard to (a) Capital, (b) Revenue Finance?
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5. Examine the advantages and disadvantages of the formation of
subsidiary companies for the construction of branch or light railways. Do
you consider the Government of India were right in deciding to abolish these
arrangements, and, if so, why?

6. Detail briefly the existing limitations on the fixing of railway rates
and fares in India. Are these limitations similar to those in force 1n
other countries?

What authority exercises the right of fixing ordinary rates and fares
and what appeal exists against the decisions of that authority?

7. Consider the relative importance of the ‘‘ cost of production '’ and
of ‘* supply and demand ’’ in the railway industry, illustrating your reply
by reference to passenger and goods traffic. |

8. What are the exact functions of a goods marshalling yard—and
what are the chief factors to be borne in mind- in fixing the site and lay-out.

SEcoND PAPER

Candidates are required to give their answers in their own
words as far as practicable.

The questions are of equal wvalue.
Answer ANY FIVE of the following questions.

1. ‘““ A Government department is not the most suitable body for cacry-
ing on a rallway undertaking.”” Do you agree with this view? Give full
reasons, illustrating your answer from the experiences of several countries.

2. What do you understand by gross and net train loads? Xxplain
the chief purposes for which the statistics of each are valuable.

3. Discuss the advantages and disadvantages of dividing the Traffic
Department into Commercial and Operating.

4. What are the essential characteristics of an effective agreement
for pooling competitive railway traffic? Consider how far such an agree-
ment 1s harmful to the interests of the traders.

5. HExamine the statement that the construction of railways by private
enterprise tends to emphasize the economic inequalities of the various parts
of a country.

6. '° Passenger traffic is far less remunerative to railways than goods
traffic.”’ Carefully examine this stafement. .

7. Discuss the statement that railways, when they electrify urban or
. suburban lines, must look to growth of traffic rather than economies in
operation for the return on the new capital employed.

.. 8. " Passenger and goods, transport (by railway) are not joint products
In the normal conception of that term.”’

.. Discuss the above and carefully explain the bearing of the theory of
Joint Costs on railway rates and fares.
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MODERN ECONOMIC HISTORY
FirsT PAPER

Paver-sette Dr. JoGiscHANDRA Sinma, M.A., PH.D.
# "7 U Mr. ROHINIMOHAN CHAUDHURI, ML.A.

MRr. HArisaApDHAN CHATTERJEE, M.A.

E:caminers—-{

,, ROHINIMOHAN CHAUDHURI, M.A.

Candidates are required to give their answers in their own
words as far as practicable.

The questions are of equal wvalue.
Answer ANY SIX questions.

1. Glve a brief account of the economic life of Great B®itain on the
eve of the Industrial Revolution.

2. Briefly indicate the causes and the main features of the Industrial
Revolution.

3. Describe the leading phases of the Trade Union Movement in
Great Britalin during 1799-1875.

4. With what objects and with what success was a policy of agri-
cultural protection pursued by Great Britain during 1791-1845?

5. What were the causes of the suspension of cash payments by the
Bank of England in 1797? To what extent were the Bank Directors
responsible for this disaster?

6. How did Great Britain deal with the problem of pauperism?
Comment on the provisions of the Poor Liaw Act of 1834.

7. Trace the circumstances that led to the passing of the Bank
Charter Act of 1844. Discuss the effects of the Act on the evolution of
the Loondon Money Market.

8. Describe the rise and progress of co-operative movement in Great
Britain.

9. Indicate the various legislation passed by Great Britain during
1880-1914 to ameliorate the conditions of labour.

SECOND PAPER

The questions are of equal wvalue.
Answer ANY SIX questions.

1. Sketch the history of the Indian steel industry and discuss how
far its development has been facilitated by protective tariffs. |

2. Describe the present position of the Indian sugar industry and
examine the defects on its agricultural and manufacturing sides. What
measures would you suggest for the development of the industry ?

3. Examine the immediate and ultimate effects of the Permganent
Settlement of 1793 on the landlords and tenantry of Bengal.
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4. Give a short account of India’s customs tariff since 1894, with

special reference to cotton duties. _ ‘
5. What were the chief factors which influenced the foreign trade of

India during the period 1861-1900?
6. Give a short sketch of the rise and development of jute manu-

factures in India, noting especially the effects of the war on the industry.
7. Trace the genesis of factory legislation in India and enuwmerate

the chief provisions of the measure now in force. . _ _
8. Outline the history of co-operative credit movement In India. What

measures can you suggest for the improvement of rural credit societies?
9. What were the causes that led to bank failures in India in 19138-14?

How far do these causes operate to-day? _
10. Describe the evolution of the Indian currency system from silver

standard to gold bullion standard.

AGRICULTURAL ECONOMICS

FirsT PAPER

; Mr. S. C. Ray, M.A.
Paper-setters and Emammers—{DR_ X. N. Gorma, PeD.

The questions are of equal value.
Candidates are required to answer only SIX questions.

1. What is- the most important crop of Bengal from the acreage point
of view and what is its average outturn per acre? What improvements
can you suggest on its present methods of cultivation ?

2. Explain shortly the following terms: (a) Food crop, (b) money
crop, (¢) labour saving implement, (d) manure, (¢) Rabi crop, (f) rural
indebtedness. Give one typical example of each of the first five items.

8. You are given five bighas of land. How would you crop the area

during the two seasons? Give your reasons for your action.
4. What are the chief difficulties about the introduction of tractors in

Bengal? How can co-operation remove those to a great extent?
5. Explain fully the effects of the following on our agriculture :—

(a) The export of oilseeds and bones to foreign countries.

(b) The gradual drying up of cottage industries in rural areas.
(¢) The silting up of local rivers.

(d) The prevalence of malaria.

6. Suggest how the adoption of agriculture as a profession by our
young men can solve the unemployment problem to a certain extent.

F* In what ways can the principles of Co-operative Credit help the
cultlgﬁt-ors (@) In the matter of production, and (b) in the matter of

distribution ?

8. ‘ The aim of modern agriculture is to raise the maximum amount
of crop per unit of land, with the minimum of expenditure and with the
least possible deterioration to the soil.”” Explain this passage as clearly
as you can, giving concrete examples where necessary.
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SECOND PAPER

Candidates are required to give their answers in their own
words as far as practicable.

The questions are of equal value.
Attempt only six questions.

1. Enumerate six of the most acute and pressing rural problems in
Bengal : and suggest a remedy for one of them.

2. Tt is said that famine is caused by scarcity of money rather than
by scarcity of food.

Discuss the pros and cons of this proposition. _

8. Agriculture is still considered to be an industry of transcendent
importance to mnational e~onomy.

Give reasons.

What is its special significance to India and what are the causes of
its losing ground?

4. Under what conditions can Agriculture become a successful industry?

In what important respects does agriculture differ from gnanufacturing
industries ?

Or,

Agriculture is no longer an industry which serves the interests of
the farmer. -

Discuss the implications of this statement with special reference to
Bengal.

5. What do vou understand by ‘‘ economising land?

Describe some of the means by which land can be economised.

6. What steps are ne-essary to prevent the waste of irrigatinn water
and to ensure its equable distribution?

Describe the part played by irrigation in the rural economy of India.

7. How have the marketing difficulties of the cultivator operated as a
handicap to the development of agriculture?

Suggest remedies for removing these difficulties.

8. By what means can village or cottage industries be developed?

What is the present position of the handloom industry?

9. Carver defines four kinds of ‘‘ waste labour.”

What are they, and to what extent does each of these kinds of waste
labour affect the agricultural development of Bengal?

PUBLIC ADMINISTRATION
FrrsT PAPER
M=Rr. SATISCHANDRA RAY, M.A.
., W. C. WorpsworTH, M.A.

., GIRIDHAR CHARRABARTI, M.A.
MRr. SATiscHANDRA RAy, M.A.

The questions are of equal value.
Attempt only FIVE questions.

Paper-setters—

Framiners—

1. Describe the organisation of the Central Government of India.
Enumerate the principal functions of the Central and Provincial Govern-
ments. (Alternative with Question 4.)

2. Name the principal Local Authorities in Bengal, and describe briefly
the constitutional relation of each of these to the Provincial Government.



¥, L
5
’?,‘ P>
Ay oy \&

_GENTRAL LIBRARY

394 B.COM. EXAMINATION

3. Distinguish between the powers, duties, and mnatitutlpt_ml
position of a Minister and those of a Member of the Provincial Fxecuti7e
Council. What is the advantage of having a Minister with no expert
knowledge of administration ?

4. On what broad principle are the functions of the Gnver:_unent of
Bengal divided between the Ministry and the Executive Council? How
far has the Ministry been handicapped in the discharge of 1ts functinnﬂ?_

9. What functions does the British House of Commons perfarn_: in
the administrative system? What is the significance of the constitutional
principle that the Parliament does not make any grant of money unless
1t 1s demanded by the Crown?

6. Explain what you understand by ‘' Prerogadive.”” HEnumerate
some of the surviving executive, judicial, and legislative powers of the
Crown of England. What is the object of vesting the power of pardon
in the highest executive of a country?

7. Distinguish between a Union and a Federation. Give examples,
and bring out the fundamental difference between the constitutions of
Canada and Awustralia.

8. Define_the relation (1) between the Cabinet and the House of
Commons in England, (2) between the Central Executive Council and the
Legislative Assembly in India, and (3) between the Central Government
of India and the Secretary of State.

9. Define a Political Party.

‘““ The Party system has grave defects; but it is indispensable in a
Parliamentary system of Government '’ Explain.

Is there a party government in India?

SEcCOND PAPER
The questions are of equal value.
Answer ANY FIVE questions.

1. Briefly summarize the arguments for and against the separation
of the executive and judicial functions.

2. Give some account of the financial condition of Bengal so far as
public revenues and expenditure are concerned. What heads of revenue
accruing 1n Bengal are claimed by the Central Government? -

3. Give a short description of the system of local self-government in
Bengal, drawing attention to what you consider its strength and its
weakness. Do you think that further responsibilities could be delegated
to these bodies?

4. Discuss briefly the position of the Indian Civil Service in the
administrative system of British India.

~ 9. What in your opinion are the duties of the State in relation to
primary education ?
6. Describe the organization of the judicial system in Bengal. Where

are appeals from Indian High Courts heard, and in what circumstances are
these appeals allowed?

¥ 7. In what relation do the Indian States stand to the Government

of India? Mention some of the leading States and add anything you know
about their systems of government.

8. Describe briefly (a) the nature, (b) the consequences of the Perma-

nent Settlement in Bengal. How far has the cultivating raiyat rights
against the Zemindar?

9. Write notee on dominion status; transferred subjects: excise

policy in Bengal; union boards; the road cess; the High Commissioner for
India; the Linlithgow Commission. (Five only.)




